

(4)

Find  $L\{\cosh^2 2t\}$ 

Ans:

$$\begin{aligned}
 L\{\cosh^2 2t\} &= L\left\{\frac{1}{2} 2\cosh^2 2t\right\} \\
 &= \frac{1}{2} L\{1 + \cosh 4t\} \\
 &= \frac{1}{2} L\{1\} + \frac{1}{2} L\{\cosh 4t\} \\
 &= \frac{1}{2} \frac{1}{p} + \frac{1}{2} \frac{p}{p^2 - 16} \quad \text{if } p > 4 \\
 &= \frac{1}{2} \left[ \frac{p^2 - 16 + p^2}{p(p^2 - 16)} \right] \\
 &= \frac{1}{2} \left[ \frac{2p^2 - 16}{p(p^2 - 16)} \right] \\
 &= \frac{p^2 - 8}{p(p^2 - 16)} \quad \text{if } p > 4
 \end{aligned}$$

(5)

Ans:

Find  $L\{7e^{2t} + 9e^{-2t} + 5\cos t + 7t^3 + 5\sin 3t + 2\}$ 

$$\begin{aligned}
 &L\{7e^{2t} + 9e^{-2t} + 5\cos t + 7t^3 + 5\sin 3t + 2\} \\
 &= 7L\{e^{2t}\} + 9L\{e^{-2t}\} + 5L\{\cos t\} + 7L\{t^3\} + 5L\{\sin 3t\} + 2L\{1\} \\
 &= 7 \frac{1}{p-2} + 9 \frac{1}{p+2} + 5 \frac{p}{p^2+1} + 7 \frac{L^3}{p^{3+1}} + 5 \frac{3}{p^2+9} + \frac{2}{p} \\
 &= \frac{7p+14+9p-18}{p^2-4} + \frac{5p}{p^2+1} + \frac{7 \times 6}{p^4} + \frac{15}{p^2+9} + \frac{2}{p} \\
 &= \frac{16p-4}{p^2-4} + \frac{5p}{p^2+1} + \frac{42}{p^4} + \frac{15}{p^2+9} + \frac{2}{p} \quad \text{Ans}
 \end{aligned}$$

←x→

(6)

Find the Laplace transform of the following function

$$3t^4 - 2t^3 + 4e^{-3t} - 2\sin 5t + 3\cos 3t$$

Ques:- Let  $F(t) = 3t^4 - 2t^3 + 4e^{3t} - 2\sin 5t + 3\cos 3t$

$$\begin{aligned}\therefore L\{F(t)\} &= L\{3t^4 - 2t^3 + 4e^{3t} - 2\sin 5t + 3\cos 3t\} \\ &= 3L\{t^4\} - 2L\{t^3\} + 4L\{e^{3t}\} - 2L\{\sin 5t\} \\ &\quad + 3L\{\cos 3t\} \\ &= 3 \frac{14}{p^{4+1}} - 2 \frac{13}{p^{3+1}} + 4 \frac{1}{p+3} - 2 \frac{5}{p^2+25} + 3 \frac{p}{p^2+9} \\ &= \frac{72}{p^5} - \frac{12}{p^4} + \frac{4}{p+3} - \frac{10}{p^2+25} + \frac{3p}{p^2+9} \quad \text{Ans}\end{aligned}$$

→

⑦  $2e^{3t} - e^{-3t}$

Ques:- Let  $F(t) = 2e^{3t} - e^{-3t}$

$$\begin{aligned}\therefore L\{F(t)\} &= L\{2e^{3t} - e^{-3t}\} \\ &= 2L\{e^{3t}\} - L\{e^{-3t}\} \\ &= 2 \frac{1}{p-3} - \frac{1}{p+3} = \frac{2p+6 - p+3}{p^2-9} \\ &= \frac{p+9}{p^2-9} \quad \text{Ans}\end{aligned}$$

⑧ Evaluate function  $L\{e^{2t} - e^{-3t}\}$ . Define the validity of the function

Ques:-

$$\begin{aligned}L\{e^{2t} - e^{-3t}\} &= L\{e^{2t}\} - L\{e^{-3t}\} \\ &= \frac{1}{p+2} - \frac{1}{p+3} = \frac{p+3 - p-2}{(p+2)(p+3)} \\ &= \frac{1}{(p+2)(p+3)}\end{aligned}$$

$\therefore L\{e^{2t} - e^{-3t}\}$  is not valid when  $p = -2$  or  $p = -3$  and valid for all other value of  $p$ .

### Problems Type-II

(1) Find  $L\{F(t)\}$  where

$$F(t) = \begin{cases} 0 & , 0 < t < 1 \\ t & , 1 < t < 2 \\ 0 & , t > 2 \end{cases}$$

Ans: Here  $F(t)$  is not defined at  $t=0$ ,  $t=1$  &  $t=2$

$$\therefore L\{F(t)\} = \int_0^{\infty} e^{-pt} F(t) dt$$

$$= \int_0^1 e^{-pt} \cdot 0 dt + \int_1^2 e^{-pt} \cdot t dt + \int_2^{\infty} e^{-pt} \cdot 0 dt$$

$$= \int_1^2 e^{-pt} \cdot t dt$$

$$= \left[ t \frac{e^{-pt}}{-p} \right]_1^2 - \int_1^2 1 \cdot \frac{e^{-pt}}{-p} dt \quad [\text{Int. by part}]$$

$$= -\frac{1}{p} [2e^{-2p} - e^{-p}] + \frac{1}{p} \int_1^2 e^{-pt} dt$$

$$= -\frac{2e^{-2p}}{p} + \frac{e^{-p}}{p} + \frac{1}{p} \left[ \frac{e^{-pt}}{-p} \right]_1^2$$

$$= -\frac{2e^{-2p}}{p} + \frac{e^{-p}}{p} - \frac{1}{p^2} [e^{-2p} - e^{-p}]$$

$$= -\frac{2e^{-2p}}{p} + \frac{e^{-p}}{p} - \frac{e^{-2p}}{p^2} + \frac{e^{-p}}{p^2}$$

$$= \left( \frac{1}{p} + \frac{1}{p^2} \right) e^{-p} - \left( \frac{2}{p} + \frac{1}{p^2} \right) e^{-2p} \quad \text{if } p > 0$$

—x—

(2) Find the Laplace transform of the function  $F(t)$  where,

$$F(t) = \begin{cases} 4 & , 0 < t < 1 \\ 3 & , t > 1 \end{cases}$$



Ans:- Here  $F(t)$  is not defined on  $t=0, t=1$

$$\begin{aligned}
 \therefore L\{F(t)\} &= \int_0^{\infty} e^{-pt} \cdot F(t) dt \\
 &= \int_0^1 e^{-pt} \cdot 4 dt + \int_1^{\infty} e^{-pt} \cdot 3 dt \\
 &= 4 \left[ \frac{e^{-pt}}{-p} \right]_0^1 + 3 \left[ \frac{e^{-pt}}{-p} \right]_1^{\infty} \\
 &= \frac{4}{-p} [e^{-p} - 1] - \frac{3}{p} [0 - e^{-p}] \quad \text{if } p > 0 \\
 &= -\frac{4}{p} e^{-p} + \frac{4}{p} + \frac{3}{p} e^{-p} \\
 &= \frac{4}{p} - \frac{e^{-p}}{p} = \frac{1}{p} (4 - e^{-p}), \quad p > 0
 \end{aligned}$$

→

③ Find the Laplace transform of the function  $f(t)$  where,

$$F(t) = \begin{cases} 2t & , 0 \leq t < 5 \\ 1 & , t > 5 \end{cases}$$

Here  $F(t)$  is not defined on  $t=5$

$$\begin{aligned}
 \therefore L\{F(t)\} &= \int_0^{\infty} e^{-pt} F(t) dt \\
 &= \int_0^5 e^{-pt} \cdot 2t dt + \int_5^{\infty} e^{-pt} \cdot 1 dt \\
 &= 2 \int_0^5 e^{-pt} \cdot t dt + \int_5^{\infty} e^{-pt} dt \\
 &= 2 \left[ t \frac{e^{-pt}}{-p} \right]_0^5 - 2 \int_0^5 \frac{1}{-p} e^{-pt} dt + \left[ \frac{e^{-pt}}{-p} \right]_5^{\infty}
 \end{aligned}$$

$$\begin{aligned}
 \therefore L\{F(t)\} &= 2 \left[ s \frac{e^{-5p}}{-p} - 0 \right] + 2 \left[ \frac{e^{-pt}}{-p} \right]_0^5 + \frac{1}{p} [0 - e^{-5p}] \\
 &= 10 \frac{e^{-5p}}{-p} - \frac{2}{p^2} [e^{-5p} - 1] + \frac{e^{-5p}}{p} \\
 &= -\frac{10e^{-5p}}{p} - \frac{2}{p^2} e^{-5p} + \frac{2}{p^2} + \frac{e^{-5p}}{p} \\
 &= \frac{2}{p^2} (1 - e^{-5p}) - \frac{9}{p} e^{-5p} \quad p > 0.
 \end{aligned}$$

-x-

④ Find the Laplace transform of the function  $F(t)$  where

$$F(t) = \begin{cases} \sin t & ; 0 < t < \pi \\ 0 & ; t > \pi \end{cases}$$

Here  $F(t)$  is not defined on  $t=0$  and  $t=\pi$

$$\begin{aligned}
 \therefore L\{F(t)\} &= \int_0^{\infty} e^{-pt} F(t) dt \\
 &= \int_0^{\pi} e^{-pt} \sin t dt + \int_{\pi}^{\infty} e^{-pt} \cdot 0 dt \\
 &= \int_0^{\pi} e^{-pt} \sin t dt \\
 &= I_1 \quad \text{--- (1)}
 \end{aligned}$$

For  $I_1$

$$\begin{aligned}
 I_1 &= \int_0^{\pi} e^{-pt} \sin t dt \\
 &= \left[ \sin t \frac{e^{-pt}}{-p} \right]_0^{\pi} - \int_0^{\pi} \cos t \cdot \frac{e^{-pt}}{-p} dt \\
 &= -\frac{1}{p} [0 - 0] + \frac{1}{p} \int_0^{\pi} e^{-pt} \cos t dt
 \end{aligned}$$

$$I_1 = \frac{1}{p} \int_0^{\pi} e^{-pt} \cos t \, dt$$

$$= \frac{1}{p} \left[ \cos t \cdot \frac{e^{-pt}}{-p} \right]_0^{\pi} - \frac{1}{p} \int_0^{\pi} (-\sin t) \frac{e^{-pt}}{-p} dt$$

$$= \frac{1}{p} \left[ (-1) \frac{e^{-p\pi}}{-p} + \frac{1}{p} \right] - \frac{1}{p^2} \int_0^{\pi} \sin t \, e^{-pt} dt$$

$$= \frac{e^{-p\pi}}{p^2} + \frac{1}{p^2} - \frac{1}{p^2} I_1 \quad \{\text{By } \textcircled{1}\}$$

$$\Rightarrow I_1 \left( 1 + \frac{1}{p^2} \right) = \frac{e^{-p\pi} + 1}{p^2}$$

$$\Rightarrow I_1 \left( \frac{p^2 + 1}{p^2} \right) = \frac{e^{-p\pi} + 1}{p^2}$$

$$\Rightarrow I_1 = \frac{e^{-p\pi} + 1}{p^2 + 1}$$

$\therefore \textcircled{1}$  becomes

$$L\{f(t)\} = \frac{e^{-p\pi} + 1}{p^2 + 1}$$

— x —

⑤ Find  $L\{\sin \sqrt{t}\}$

Ans: We have,

$$L\{\sin \sqrt{t}\} = L\left\{ \sqrt{t} - \frac{(\sqrt{t})^3}{3} + \frac{(\sqrt{t})^5}{5} - \dots \right\}$$

$$= L\left\{ t^{1/2} - \frac{t^{3/2}}{3} + \frac{t^{5/2}}{5} - \dots \right\}$$

$$= L\{t^{1/2}\} - \frac{1}{3} L\{t^{3/2}\} + \frac{1}{5} L\{t^{5/2}\} - \dots$$

$$= \frac{\Gamma(1 + \frac{1}{2})}{p^{1/2+1}} - \frac{1}{3} \frac{\Gamma(1 + \frac{3}{2})}{p^{3/2+1}} + \frac{1}{5} \frac{\Gamma(1 + \frac{5}{2})}{p^{5/2+1}} - \dots$$